@ 101 E2EERYvHI—BFEXEHAEDER

= : =

—te XY

AR5

5

B ROFRIT—ILFABLAR
B9 ERiR fE L RR 15

N:NACKSRATT7 LKE
HOEMBIERATT L
DN SRR IS

£ . FohkE RS

T EIT—FVTIVREDT L

M RIMOE/AERRE

BEINIE X [ ] NOBFRFTYFFon—

* fEE 12828H (k) EIEERIE 15:00 HERBEZ ©12:05 @14:10
|
1/98 % E 14:05
[47])
1/7x E 12:05 E 14:20
[45) [46]
1/47K (%) % g &%
[41] [42] [43] [44]
725 Z 5 A B i i ® i
@ Q) ® @ @ Q) ® @
[33] [34] [35] [36] [37] [38] [39] [40]
131+ | = = % =3 [i] [i] Eq Eq 7 7 A A N N =3 S
@ @ @ Q) @ @ Q) @ @ @ @ @ @ @ Q) @
[17] [18] [19] [20] [21] [22] [23] [24] [25] [26] [27] [28] [29] [30] [31] [32]
12/29* """ = - =3 =3 iH i £ Eq # Z A A N N N i
Q) @ Q) @ @ Q) @ Q) Q) @ @ Q) Q) @ Q)
[2] [3] [4] [5] [6] [7] [8] [9] [10] [11] [12] [13] [14] [15] [1] [16]
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48
HFLh M ELtEBRBAMRRXRLULAEZTRETFEREEERTRAELOBSEE ZEFEZARAAE B FHMEEGNABE B MK ZEFHBH IEK
- E§5 vy I\
8 B X & HHBBR = A T A % B me "z - "
F [ 1E ﬁi%ﬂa =3 X
e Hh 23 = ¥ 2 HB £ = o= 3 S ) = X = B ¥ ® X oy =
ﬂﬁqﬁ “l I*.’L\Eﬁk
HELSEIBRREBLEtREEXE®ZFEILIAAEAEZSRELULE —#% LULE»>HMNMHEBEBE&FEIXEEEBRERE I E B 6 F
%ETEE%E:EEEFFE%m@#%%%%%k?ﬁ{&'ﬂ&IﬁiﬂiﬂJEEﬁEkE%?iﬂEﬁ‘:;’?&ﬁﬁlﬂéiz%‘ﬁ%ﬁ%ﬁ?
7 = B R =
ZE EEBEEB)EH REEARAEFEAOARBZE E UL AODOULINB, HONEEBREZS E B RI)IIBE B KRB XK
28|17/13/19/12/24/ 6 | 5| 5|18/ 9 |10/ 9 |15 17 %) 7 | 4|11/ 3|9 /5| 9| 9(28/33/31| 5|5 12/33/18|#1|%)| 5 %) 5 2|25 16| 9 |12(3 |3 | 2|19 2|19




